
Math Challenge Worksheet--April 24 
 

1. There are 12 children in the pool.  Then 7 
get out.  Then 4 more jump in.  How many 
children are in the pool now? 
 
Number model(s): _____________________ 
 
 
 
 
 
 
 
Answer: __________ children 

4. Fill in the missing numbers on this number 
grid.  
 

 

2. Solve. 
 
    423 + __________ = 443 
 
    703 + 100 = __________ 
 
    346 + __________ = 446 
 
    212 + 10 = __________ 
 

5.  Use partial sums to solve. 
 
                    1 2 5 

      + ​ 1 3 1 
 
 
 
 
  

 

3. Use these bills to show the following 

amounts: . 
 
$157 
 
 
_____________________________________ 
$89 

6. Solve.  
 
 
           6 3 

+  4 9 
 
 
 
 
 
 
 
Ballpark estimate: __________ 

 


